S 2xos
M PAPE FOME HOSN(YUBDUN/YWHE)

EHol: ADIBOEE 2o CERT
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
2 X2 395,769 394,266 1,503
X225 FOUME HOSX (AT HHY /ALY 289,660 288,700 960
AMSEHSEE 29 229,660 228,700 960

HHEIX 108,700 108,700 0
202 044l 1,500 1,500 0
01 2L 1,500 1,500 0
= 0 & 1,500 1,500 0

O&= XXM # X 0 60,000& x2YH x5 600
o2& o&EFAH 5 Ol 60,000& *3Y x5 900
301 Qietg al=a 107,200 107,200 0
05 S&-01& - -HEESEMZ 105,200 105,200 0
= Ol & 105,200 105,200 0
OO0l (EZ) JI22Y  200,000& *x30H 128 72,000
OO0 (sd) &= 200,000& *30H *23| 12,000
OO0l & (EE) 3o 2
20,000& x30H x23| x12& 14,400
O &=t 25,000& *136YH *23| 6,800
09 SAIAHIEAZ 2,000 2,000 0
= 0ff &F 2,000 2,000 0
OYZEAU0 HEA AKX BEAS
10,000 x50H *23| 1,000
OJI24% It RI| AKX 243
10,000 x20H *x3 3] 600
OAl F=& A AT EAS
10,000& x 10 x4 3] 400
KNS E3AS (Z=0EA 0l &) 100,000 120,000 A 20,000
201 282 A | 47,000 72,000 A 25,000
01 Ar®2te2ltl 17,000 27,000 A 10,000
= 0l & 17,000 27,000 A 10,000
O=Z%=2 =2 U HE2 & 17,000
— A2 100, 000& *203] 2,000
— e & ¢ 50, 000& *300H 15,000
03 #AI2HH| 30,000 45,000 A 15,000
= 0l & 30,000 45,000 A 15,000
otig T 29 30,000
— &0l Cieter = 20,000, 000& =14 20,000
— A sSSH Ctetg 222 10,000,000 =14 10,000
301 ot A= 3,000 3,000 0
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Oll &F o
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SA B S (SH) - MEMY - BES =z T BlRE2
09 dAEHIEANZS 3,000 3,000
= Ofl &F 3,000 3,000 0
OzZ=z =2 UR AS=x2 & AHEH
10,000& 63| x50 3,000
401 AEHIZ=ROHI 50,000 45,000 5,000
01 Al&Hl 50,000 45,000 5,000
= 0fl & 50,000 45,000 5,000
OXle=z2 &As AT 20,000,000 =14l 20,000
Octd galol 24X 30,000
— Of2t o™ = 2,000, 000& *5H 10,000
— R REHEI EX £H
2,000,000& =104 20,000
FoEMMA 2 5,800 0 5,800
201 et 5,000 0 5,000
01 AtR2Zeldl 5,000 0 5,000
= Ofl &F 5,000 0 5,000
OFHMARARZ =Z 100,000 «20H *23| 4,000
OF UM oA = (L S WE)
1,000,000& =14l 1,000
301 LEtBAE 800 0 800
09 AIAHIEAZ 800 0 800
= 0fl &F 800 0 800
OF0FML SBHEAED] AHIBH
20,0003 x20E #23| 800
FOURX & HH2Y 15,160 0 15,160
201 et 10,800 0 10,800
01 AFR2Zeldl 10,800 0 10,800
= 0fl & 10,800 0 10,800
O=QITXIHE et=EH] 100,000& =122 1,200
OFURNXE 2=
20,000 x25H «12& 6,000
OFQUNXME T2 28+
300,000& »12& 3,600
301 LeEt2EN= 1,000 0 1,000
09 AIAHIEA=S 1,000 0 1,000
= Ofl & 1,000 0 1,000
OFBINXSLS S AKX A8
40,000 #2549 x13] 1,000
405  THAHF S HI 3,360 0 3,360
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2N RS
HE: 2X0S FOME HOASH(YUDDHE/UBHT)
St ANQIEOBE 29 (B9 @
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
01 TAUSEHSY 3,360 0 3,360
= 0 & 3,360 0 3,360
ORINUE 50,0002 *404 2,000
OEBIE-EB] 1,000,000 *1CH 1,000
O#Zo0ly LB 90,0002 *4CH 360
MEORHE L ARD FRAMY 60,000 60,000 0
ME S A 30,000 30,000 0
401 ANSHIL2THY 30,000 30,000 0
01 Al&HI 30,000 30,000 0
=0 &t 30,000 30,000 0
OSAI2XOIIHE & EE =5 EHISA
10,000,000 * 14! 10,000
OARR 212 oI 4 20,000,0008 *14! 20,000
ATD OISR AR (301 E 010 &) 30,000 30,000 0
401 ANZHIL 2T 30,000 30,000 0
01 Al&HI 29,730 29,730 0
= 0l 4t 29,730 29,730 0
OZTAEUT,2KA 2E 22 DB AHL=3
75m) 29,730,000 *14! 29,730
03 Al&=Chyl 270 270 0
=0 &t 270 270 0
OZTABUT2NA 222 DHBA Al
R 30,000,000 *0.90% 270
WHS A (2 E2E)(IIEH/IIE) 106, 109 105,566 543
oIz 2 gyl 18,909 8,366 543
oz 2yl 18,909 8,366 543
101 oIyl 18,909 8,366 543
01 =4 18,909 18,366 543
= 0l 4t 18,909 8,366 543
OANZQAD R4 10,2998 9% 174 24 +128 18,909
SIEE 87,200 87,200 0
SJEE 87,200 87,200 0
201 Qw2 50,000 50,000 0
01 AtR2lY| 24,000 24,000 0
=0 4t 24,000 24,000 0
ONREE 7 30,0002 *10% *122 3,600
OFIIQHMEY +42 180,000 *123] 2,160
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S 2xos
Y HN2ABU(FEZ2S)(IIEH/IIE)
Ce: I3l (e &
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;ﬁ% HRE2
OAYUNMEH =2 480,000 23] 960
O= AR 72 (Ad) 22,000 * 102t A %128 2,640
O=2AMI EH 8 ¢ 100,000& *1CH*x123] 1,200
OngleH EH 8 ¢ 200, 000& *2CH x63] 2,400
O=AIl, Z2lH =&KX ]
300,000& *123] 3,600
O8I 8 91z 20,000 *8CHx12& 1,920
OANEEE &9 M 100, 000& *123] 1,200
OYR=X S20A I
8,000 x9H 52 x12& 4,320
02 =324 26,000 26,000 0
= 0ff &F 26,000 26,000 0
O8Il ANEEZ 1,250,000& x12& 15,000
Odtel=% AtEE 250,000& x12& 3,000
OZANIIARSB 100, 000& = 12& 1,200
Oshte3 100,000& = 12& 1,200
ORERS 400,000 x12& 4,800
OAl & &Hl Xl 400,000& 23| 800
202  0dd| 27,000 27,000 0
02 EHNH| 27,000 27,000 0
= 0ff & 27,000 27,000 0
O MYl 225,000& x10H = 12& 27,000
203 YR 10,200 10,200 0
01 JIASHLR=XH| 7,700 7,700 0
= 0l & 7,700 7,700 0
Ogx2s2 7,700,000 x1H 7,700
02 HJINAER=XH| 400 400 0
20f| A 400 400 0
HAIAG R =X H| 40,000 *10H 400
04 PASIYRE=XH| 2,100 2,100 0
= 0l & 2,100 2,100 0
ORNMSIHRFXY| 175,000& = 12& 2,100
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